ECE 2260 EXAM #3 prob 2 solution U
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Note: The 6V in the vg1(z) source is always on.

C=1uF R=100 L L =40 mH
a)  Write the Laplace transform, Vg(s), of vg(£) = vg1(2) + vg2(2).

b) Draw the s-domain equivalent circuit, including source Vg(s), components,
initial conditions for C's, and terminals for V(s).

¢) Write an expression for Vy(s). You may use the parallel operator (for parallel
impedances) in your answer.

d) Apply the initial value theorem to find lim v, ().
t—0
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Now we cCan draw +he s-domain circuit.
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C) We sum Vol'&qje, sources and use a v-divider
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d)  Initial value -theorem-
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